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Cuadro 2 (continuación 3)/Table 2 (continued 3)
 Argentina: tablas abreviadas de mortalidada

Argentina: abridged life tables 
a

1980

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.040 0.039  100 000  3 912  96 769 0.959 b 6 620 186 66.2
1 4 0.002 0.007  96 088   638  382 596 0.994 c 6 523 416 67.9
5 5 0.001 0.003  95 450   267  476 581 0.997 6 140 820 64.3

10 5 0.001 0.003  95 183   264  475 254 0.996 5 664 239 59.5
15 5 0.001 0.005  94 919   492  473 364 0.994 5 188 985 54.7
20 5 0.002 0.008  94 427   722  470 327 0.992 4 715 621 49.9
25 5 0.002 0.009  93 704   805  466 509 0.990 4 245 294 45.3
30 5 0.002 0.010  92 899   975  462 059 0.987 3 778 785 40.7
35 5 0.003 0.015  91 924  1 372  456 191 0.981 3 316 726 36.1
40 5 0.005 0.024  90 552  2 147  447 394 0.970 2 860 535 31.6
45 5 0.008 0.037  88 405  3 308  433 757 0.953 2 413 141 27.3
50 5 0.012 0.057  85 097  4 834  413 402 0.930 1 979 384 23.3
55 5 0.017 0.084  80 263  6 734  384 481 0.897 1 565 983 19.5
60 5 0.026 0.124  73 529  9 129  344 822 0.852 1 181 502 16.1
65 5 0.038 0.176  64 400  11 316  293 708 0.788  836 680 13.0
70 5 0.058 0.256  53 083  13 579  231 469 0.703  542 971 10.2
75 5 0.085 0.352  39 504  13 888  162 800 0.575  311 503 7.9
80 5 0.150 0.538  25 616  13 789  93 609 0.423  148 702 5.8
85 5 0.208 0.661  11 827  7 816  39 598 0.313  55 094 4.7
90 5 0.274 0.764  4 012  3 067  12 393 0.221  15 496 3.9
95 5 0.343 0.840   945   794  2 741 0.117 d  3 103 3.3

100 ω 0.417 1.000   151   151   362   362 2.4
Mujeres/Females

0 1 0.033 0.032  100 000  3 201  97 391 0.966 b 7 304 192 73.0
1 4 0.002 0.006  96 799   602  385 515 0.995 c 7 206 801 74.5
5 5 0.000 0.002  96 196   192  480 502 0.998 6 821 286 70.9

10 5 0.000 0.002  96 004   182  479 566 0.997 6 340 784 66.0
15 5 0.001 0.003  95 822   313  478 327 0.996 5 861 219 61.2
20 5 0.001 0.004  95 509   405  476 531 0.995 5 382 892 56.4
25 5 0.001 0.005  95 104   491  474 290 0.994 4 906 361 51.6
30 5 0.001 0.007  94 613   627  471 495 0.992 4 432 071 46.8
35 5 0.002 0.010  93 985   901  467 675 0.989 3 960 577 42.1
40 5 0.003 0.013  93 085  1 244  462 313 0.984 3 492 902 37.5
45 5 0.004 0.018  91 840  1 698  454 957 0.977 3 030 589 33.0
50 5 0.005 0.027  90 142  2 419  444 663 0.967 2 575 632 28.6
55 5 0.008 0.039  87 723  3 443  430 008 0.951 2 130 969 24.3
60 5 0.012 0.059  84 280  4 939  409 052 0.926 1 700 962 20.2
65 5 0.019 0.091  79 341  7 182  378 748 0.877 1 291 910 16.3
70 5 0.034 0.159  72 159  11 468  332 123 0.802  913 162 12.7
75 5 0.055 0.243  60 690  14 778  266 507 0.672  581 039 9.6
80 5 0.113 0.439  45 913  20 135  179 226 0.506  314 532 6.9
85 5 0.174 0.593  25 778  15 282  90 684 0.374  135 306 5.2
90 5 0.236 0.709  10 496  7 439  33 883 0.270  44 622 4.3
95 5 0.305 0.802  3 057  2 451  9 158 0.147 d  10 739 3.5

100 ω 0.383 1.000   606   606  1 581  1 581 2.6

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


